
1. The strawberry weighs 24 grams. 

The strawberry and tomato together weigh 69 grams. 

What does the tomato weigh? 

Reasoning

Grammar and punctuation

4. There are 76 cars in the car park.
18 more cars go into the car park. 
Then 35 cars go out. 
How many cars are in the car park now? 

47       +         14   =   38 

39        - 27     =    27

23  +  15   +    5   =  

59   - 11   - 11   =  

⅓  of  21   = 

½  of  16   =  

2    X                 =  20 

÷ 5  =   6     

Spellings

Arithmetic

1. football
2. skin
3. frisky
4. which
5. unfair

1. Why does the underlined word start with a capital 
letter in the sentence below? 

Dad cleaned the kitchen and John helped. 

__________________________________________

2. Look at where the arrow is pointing.
Archie the hamster eats seeds nuts and dried peas 
every day.
Tick one.
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3. Ben has 4 boxes of eggs

Write a number sentence using x and = to show that Ben has 24 
eggs altogether. .

2. Two shapes have more than 8 edges.
Tick them.

An apostrophe A full stopComma A question mark

g


